Section 4.3

Find the exact values of the six
trigonometric functions of the angle 6
shown in the figure.
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Use trigonometric identities to
transform the left side of the equation
into the right side (0 < 6 < 2m).
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Section 4.4

Find the exact values of the six

trigonometric functions of 8 with the

Function Value Constraint
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given constraint.

Evaluate the sin, cosine, and tangent of
the angle without using a calculator.
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Section 4.5

g isrelated to a parent function f(x) = sin(x) or f(x) = cos(x).

g(x) = cos(x — ) + 2

(a) Describe the sequence of (b) Sketch the graph of g. (c) Use function notation to write
transformations from f to g. gintermsof f.
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Section 4.6
Use a graph to solve the equation on the
interval [—2m, 21]

49, tanx = 1




Section 4.7

Evaluate the expression without using a
calculator.

Use the properties of inverse
trigonometric functions to evaluate the
expression.

49. cos[arccos(—0.1)]

C0S [ogrocos (-01Y] = -0.1
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Section 4.8

The sunis 25° above the horizon. Find the length of a shadow cast by a building that is 100 feet
tall(see figure).
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Section 5.1

Factor the expression and use the fundamental identities to simplify. There is more than one
correct form of each answer.
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Section 5.3
Solve the equation.
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